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& ~ MatLab #2588 (12 5 £ 7 B
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close all;clear all;clc;

% AR IE

pic=46;% & A FLAAEL

ni=50; % A SR8

dt=1/15; %5 B i EiRF (secend)

xmark=10; % HAGCIREE (cm) BEAL AT
pxyco=[];

%

i
#
o

pxy=zeros((ni-pic)+1,2); % HEE HEER}

ratio=[];

for 1=pic:ni

clf

A8=imread([ num2str(i,'%08d") '.png']); %sEEUE ZEA Y. jpg .png

image(AR);hold on;

if i==pic
[pix,piy] = ginput(2);
plot(pix(1),piy(1),*red";
hold on
plot(pix(2),piy(2), *red");
coldist=sqrt((pix(2)-pix(1)).72);
ratio=xmark./coldist;
hold on

end

if i==pic

[pix,piy] = ginput(2);
plot(pix(1),piy(1),*g";
hold on
plot(pix(2),piy(2),*g");
depth=sqrt((piy(2)-piy(1))."2);
depthy=abs(depth*ratio);
hold on

end

% pixel KF-SEH

% pixel T H/KZE S

5=q
I
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[col,row] = ginput(1);
pxy(@-pic+1,1)=row;% y
pxy(i-pic+1,2)=col;% x
hold on
plot(col,row,".b','LineWidth',2)
hold on
t=[num2str((i-pic)*dt)];
title ('time = ', t ,' (sec)'])
print(-dpng’,['findp' num2str(,'%08d")])

end
clf
pxyco=[pxyco;pxyl;
% G
figure(1)
image(A8);hold on;
save('pxyco.txt', pxyco',-ascii’)
hold on
plot(pxy(:,2),pxy(:,1), ")
text()
picc=num?2str(pic);
nic=num2str(ni);
title([Depth = ',num?2str(depthy),’ cm '])
print(-dpng',['findpall',picc,'-',nic])
DHELY (FEE)J7 RS B R A E y-t
figure(2)
time=[1:1:length(pxy(:,1))]*dt-dt;
plot(time, (pxy(:,1)-pxy(1,1))*-ratio,b-0");
title(['Depth = ',num?2str(depthy), cm ')
xlabel('time (sec)’)
ylabel('y-displacement (cm)’)
print(-dpng',"Y-T")
DEL X CK2)J7 R A 1% e i (A ] x-t
figure(3)
time=[1:1:length(pxy(:;,2))*dt-dt; % HF[EIEEET
plot(time, (pxy(:,2)-pxy(1,2))*ratio,'b-0");

title(['Depth = ',num?2str(depthy),' cm '])
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xlabel('time (sec)’)
ylabel('x-displacement (cm)")
print(-dpng', X-T")
% x-y BHE]
figure(4)
plot((pxy(:,2)-pxy(1,2))*ratio,(pxy(:,1)-pxy(1,1))*-ratio, b-0")
title(['Depth = ',num?2str(depthy),’ cm '])
xlabel('x-displacement (cm)")
ylabel('y-displacement (cm)")
axis equal
print(-dpng',’X-Y")
% Vx - Vy [& Vx - t & Vy - t [&]
Vy=[];Vx=[l;
for f=1:length(pxy(;,1))-1; % #REZEH
dy=(pxy(f+1,1)-pxy(f,1))*-ratio/dt;
Vy=[Vy:dyl;
dx=(pxy(f+1,2)-pxy(f,2))*ratio/dt;
Vx=[Vx;dx];
end
figure(5)
Ve=150;
plot(Vx,Vy,'bo")
title(('Vx - Vy 47filE , Depth = ',;num2str(depthy), cm ')
xlabel('Vx (cm/s)")
ylabel('Vy (cm/s)")
axis equal
print(-dpng','Vx-Vy")
% V-avg - t 8] Il 7>
figure(6)
Vex=150; % v scale
Vey=50; % v scale
subplot(2,1,1)
plot(time(1:f),Vx,'bo-")
mvx=mean(Vx);
title(('Vx _a v _g= "num2str(mvx), cm/s , Depth ='num2str(depthy), cm '])
ylabel("Vx (cm/s)")
18



subplot(2,1,2)
plot(time(1:f),Vy,'bo-")
mvy=mean(Vy);
title(['Vy _a v_g= "num2str(mvy), cm/s , Depth =',num2str(depthy), cm '])
xlabel("time (sec)")
ylabel('Vy (cm/s)")
print(-dpng',' Vxy-T")
% V-avg - t & 2274
figure(7)
fac=0.02; % arrows scale
div=2; % text location
pp=length(pxy);
Vavg=complex(Vx,Vy);
plot((pxy(1:pp-1,2)-pxy(1,2)).*ratio,(pxy(L:pp-1,1)-pxy(1,1)).*-ratio,'bo")
axis equal
arrows((pxy(1:pp-1,2)-pxy(1,2)).*ratio,(pxy(1l:pp-1,1)-pxy(1,1)).*-ratio, Vavg,fac,'’k')
distx=pxy(2,2)-pxy(1,2);
disty=pxy(2,1)-pxy(1,1);
for 11i=1:pp-1
Vavgl=sqrt(Vx. 2+Vy. 2);
end
Vavgm=mean(Vavgl);
Vavgstr=num2str(Vavgm);
title(['V_a_v_g = "Vavgstr, cm/s , Depth =", num2str(depthy),' cm ')
xlabel('centimeter’)
ylabel('centimeter")
print(-dpng','V-avg')
% a-avg - t
figure(8)
acx=10; % a scale
acy=30;
ax=[J;ay=[l;
for i=1:length(Vx)-1

dax=(Vx(1+1)-Vx(@))./dt;

ax=[ax;dax];

day=(Vy(@(+1)-Vy(@))./dt;

19



ay=[ay;day];
end
subplot(2,1,1)
plot(time(1:f-1),ax,bo-")
meax=mean(ax);
title(('a_x _a_v_g= 'num2str(meax), cm/s"2 , Depth ="',;num2str(depthy), cm ')
ylabel('a_x (cm/s”2)")
subplot(2,1,2)
plot(time(1:f-1),ay,'bo-")
meay=mean(ay);
title('a y _a v g= 'num2str(meay), cm/s"2 , Depth = ',num2str(depthy), cm ')
xlabel('time (sec)")
ylabel(a_y (cm/s™2)")
print(-dpng','axy-T")
figure(9)
axyc=10; % axy scale
plot(ax,ay, bo")
title(l'a_x - a_y Z7fffif@ , Depth =",num2str(depthy),' cm )
xlabel('a_x (cm/s"2)")
ylabel(a_y (cm/s"2)")
axis equal
print(-dpng’,'a_x-a_y")
figure(10)
faca=0.3; % arrows scale
diva=1; % text location
pp=length(pxy);
aavg=complex(ax,ay);
plot((pxy(2:pp-1,2)-pxy(2,2)).*ratio,(pxy(2:pp-1,1)-pxy(2,1)).*-ratio,'bo")
axis equal
arrows((pxy(2:pp-1,2)-pxy(2,2)).*ratio,(pxy(2:pp-1,1)-pxy(2,1)).*-ratio,aavg,faca, k')
distx=pxy(3,2)-pxy(2,2);
disty=pxy(3,1)-pxy(2,1);
for 1i=2:pp-2
aavgl=sqrt(ax."2+ay.2);
end

aavgm=mean(aavgl);
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aavgstr=num2str(aavgm);

title(['a_a_v_g = 'aavgstr, cm/s"2 , Depth =',num2str(depthy),’ cm '])
xlabel('centimeter")

ylabel('centimeter’)

print(-dpng','a-avg")

figure(11)

Vavglc=2;

plot(time(1:f),Vavgl,'bo-")

Vavg=mean(Vavgl);

Vavgstr=num?2str(Vavg);

title(['V_a_v_g = 'Vavgstr, cm/s , Depth =',num2str(depthy),' cm '])
xlabel('time (sec))

ylabel('V cm/s')

print(-dpng','V-t')

figure(12)

aavgle=2;

plot(time(1:f-1),aavgl, bo-")

title(['a_a_v_g = ',aavgstr,’ cm/s"2 , Depth = ",;num2str(depthy),' cm )
xlabel('time ( sec )

ylabel('a cm/s"2")

print('-dpng','a-t")

%

figure(13)

image(A8);hold on;

len=ni-pic+1;
plot(pxyco(l:len,2),pxyco(l:len,1),'r-', LineWidth',2)
title(['Depth = ',num?2str(depthy), cm ')

hold on

print(-dpng',['findpall',picc,'-',nic])
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